Model: TD 650 1 & 2 ROWS - 4 PIPE

650 1R - EWT 180 - Total Capacity » 650 1R - Water Pressure Drop
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o 650 2R - EWT 180 - Total Capacity 2 650 2R - Water Pressure Drop
. 18
40.0 16
14
o
£ 360 51
-] ©
= 5
= £
G 280 6
24.0 —e—EWT 180 4 —e—EWT 180
2
20.0 0
0.5 1.5 2.5 3.5 4.5 5.5 0.5 15 2.5 3.5 4.5
GPM GPM
Capacities - MBTUh @ EAT of 70 deg F. Correction Factor for EWT Heating Calculations for corrected Water temperatures
120F=0.443 LWT=EWT- MBTUh
130 F=0.533 GPM x 500
140 F=0.626
160 F=0.811 LAT = EAT+ MBTUh

CFM x 1.08



